
 

   

 

 

 



 

 



 

 

 

 

 

 

 

 



 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 



 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 
𝑃𝐼𝑖 = 𝑚(𝐼𝑖) + 15 

 

𝑚 =
20

𝐼𝑚𝑎𝑥
 

 

 

𝑃𝐸𝑖 =  𝑚(𝐸𝑖 − 3,500,000,000) + 5

𝑚 =
10

𝐸𝑚𝑎𝑥 − 3,500,000,000
 

 



 

𝑃𝐸𝑀𝑖 =  5
𝐸𝑀𝑖

𝐸𝑀𝑚𝑎𝑥
 

 

 
 



 



 

 

 

𝑃𝐼𝑖 = 𝑚(𝐼𝑖) + 15 

 



 

𝑚 =
20

𝐼𝑚𝑎𝑥
 

 

Donde: 

𝑃𝐸𝑖 =  

𝑚(𝐸𝑖 − 3,500,000,000) + 5 

 

𝑚 =
10

𝐸𝑚𝑎𝑥 − 3,500,000,000
 



 

 

𝑃𝐸𝑀𝑖 =  5
𝐸𝑀𝑖

𝐸𝑀𝑚𝑎𝑥
 

 


